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Note: Answer all 100 questions from section-A and section-B.

AIC : @Us-31 JUT WUs-9 & FH 100 J1 & TR |

Section - A : Environment

Us - 31 : ggIa=ol

1. Aerenchyma is a characteristic of

(A) Hydrophytes
(B) Xerophytes
(C) Lithophytes
(D) Psammophytes

2. Phytoplankton stage is found in

which type of succession -
(A) Xerosere
(B) Lithosere
(C) Retrogressive succession
(D) Hydrosere

3. Aquarium is an example of :
(A) Natural ecosystem
(B) Artificial ecosystem
(C) Aquatic natural ecosystem
(D) Marine ecosystem
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10.

Radio isotopes - 4.
(A) Areused in research and medi-

cine

Help in understanding bio
chemical reactions

Cause mutations in plants and
microorganisms

(D) All the above.

Sundarban National Park is in - 5.
(A) Uttar Pradesh

(B) Karnataka

(C) West Bengal

(D) Bangla Desh

World Earth Day is on - 6.
(A) 22 April

(B) 21stMarch

(C) 5™June

(D) 31tMay

Which of the following human ac- 7.
tivities are source of pollution -

(A) Burning of fuel

(B) Deforestation

(C) Use of fertilizers

(D) All the above

(B)

(©)

The two hotspots in India are : 8.

(A) Western Ghats and
Sundarbans

(B) Eastern Ghats and Sundarbans

(C) Sundarbans and Eastern
Himalayas

(D) Western Ghats and Eastern
Himalayas

Hirakund Dam in on river- 2

(A) Godavari (B) Mahanadi

(C) Cawery (D) Brahmaputra

Cotton grows on - 10.

(A) Red soil (B) Black soil

(C) Usar soil (D) Sandy soil
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12.

13.

14.

15.

16.

Which of the following about dams
is true -

(A) Hydroelectricity generation

(B) All year round water supply

(C) Flood control and soil protec-
tion

(D) All the above

Methyl isocyanate is linked to -

(A) Bhopal gas tragedy

(B) Blue baby syndrome

(C) Chernobyl nuclear disaster

(D) Global warming

Which of the following eats only
plants as food -

(A) Omnivore

(B) Herbivore

(C) Carnivore

(D) Autotroph

Vermicompost is produced with the
help of :

(A)
(B)

Farmers

Earthworm

(C) Ants

(D) Cowdung

Which of the following elements in

obtained from sea weeds?

(A) Vanadium

(B) Argon

(C) Sulphur

(D) Iodine

What causes Itai-itai disease?

(A) Cadmium pollution in drinking
water

(B) Consumption of fish from mer-

cury contaminated water

(C) Air pollution in big cities

(D)

Excess nitrates in drinking water
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Decibel in the unit of :

(A) Wind

(B) Sound

(C) Light

(D) Water pollution

Controlled burning of waste at high

temperature in presence of air con-

verting it into solid waste and gas-

eous residues is known as-

(A) Incineration

(B) Recycling

(C) Vaporization

(D) Biodegradation

BOD and COD are both measures

of -

(A) Water pollution

(B) Thermal pollution

(C) Chemical pollution

(D) Air pollution

The accumulation of certain pollut-

ants in tissues in increasing concen-

tration along the food chain is -

(A) Biological concentration

(B) Biological pollution

(C) Biological magnification

(D) Eutrophication

Photochemical smog and acid rain

are-

(A) Primary air pollutants

(B) Secondary air pollutants

(C) Tertiary air pollutants

(D) None of the above

Components of ecosystem are-

(A) Biotic and abotic

(B) Autotrophic plants

(C) Producers and Consumers

(D) Producers, consumers and de-
composers
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Orchids are mainly -

(A) Epiphytes

(B) Halophytes

(C) Mesophytes

(D) Hydrophytes

List of endangered species of plants

and animals is given in -

(A) Green Data Book

(B) Red Data Book

(C) Flora and Fauna Book

(D) Book of Endangered Plants

Organisation that researches on en-

vironment and related issues -

(A) NEERI (B) NBRI

(C) NIFT (D) BARC

Role of bacteria in carbaon cycle is-

(A) Photo synthesis

(B) Chemosynthesis

(C) Break down of organic com-
pounds

(D) Assimilation of nitrogen com-
pounds

Whcih of the following indicates SO,

pollution :

(A) Grasses (B) Mosses

(C) Fungi (D) Lichen

Collection and storage of rain water

for future use is known as -

(A) Rain water collection

(B) Rain water management

(C) Rain water harvesting

(D) Rain water utilization

In submerged hudrophyte, exchange

of gases occurs through -

(A) Hydathodes

(B) Lenticels

(C) Stomata

(D) General surface
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In a food chain, the maximum popu-

lation is that of -

(A) Producers

(B) Primary consumers

(C) Secondary consumers

(D) Tertiary consumers

A fertile soil is likely to have pH value

of :

(A) 3-4 (B) 8-9

(© 6-7 (D) 10-11

Major aerosol pollutant in jet plane

emission is :

(A) Sulphur dioxide

(B) Carbon monoxide

(C) Methane

(D) Fluorocarbon

Periyar sanctuary in Kerala is known

for -

(A) Elephants (B) Asian lion

(C) Rhinoceros (D) Sambhar

Which character is not present in xe-

rophytes?

(A) Thick cuticle

(B) Well developed mechanical tis-

sue

Well developed conducting tis-

sue

(D) Spongy parenchyma

Insectivorous plants grow in soils :

(A) Richinsalt

(B) Deficientin salt

(C) Deficient in nitrogenous sub-
stances

(D) Deficientin water

Which of the following are primary

consumers?

(A) Fishes

(B) Cattle and insects

(C) Snakes and frogs

(D) Eagle

(©)
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44,

A parasite living within tissue of host

in-

(A) Saprophyte (B) Ectophyte

(C) Endophyte (D) Epiphyte

Benthoic animals live-

(A) Deepin sea

(B) Floating

(C) Submerged

(D) Active swimmers

Rhizophora is an example of :

(A) Mesophyte (B) Hydrophyte

(C) Halophyte (D) Xerophyte

Blue revolution is associated with-

(A) Fish production

(B) Ink Production

(C) Indigo production

(D) Water conservation

The most harmful environmental

pollutants are-

(A) Human organic waste

(B) Waste from agricultural land

(C) Non bio degradable chemicals

(D) Natural nutrients present in
excess

Water blooms are formed by -

(A) Lemna

(B) Hydrilla

(C) Water Hyacinth

(D) Planktonic algae

Turbidity of water is measured by :

(A) Rain-gauge

(B) Sachidisc

(C) Anemometer

(D) Hydrometer

Biogas palnts provide :

(A) Manure

(B) Power

(C) Power and manure

(D) Hydroelectricity
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Extinction of a species means-

(A) Disappearance of a species
from the earth

Disappearance of a species in
a particular season
Disappearance of a species for
a short time

(D) None of the avove

Whcih plant yields the drug for can-
cer?
(A)
(B)

(B)
(©)

Cinchona sp

Taxus baccata

(C) Ficusreligiosa

(D) Ricinus communis
Ultraviolet radiations are absorbed
by :
(A)
(B)

Ozone

Oxygen

(C) Sulphur dioxide

(D) Argon

Green muffler is-

(A) A method of reducing air pol-
lution

A method of afforestation
Plantation along road sides to
reduce noise pollution

(D) Method to reduce land slides
Eutrophication refers to-

(A) Over abundance of nutrients in
the aquatic system

Excessive growth of algae and
microorganisms.

Serious negative effect on
growth of fish

(D) All the above

Project Tiger is :

(A) A Tiger conservation
programme launched in 1973
A project to prevent villagers
from the attack of tigers

A programme to educate people
about the significance of tigers
(D) A tiger conservation
programme launched by

Narendra Modi

(B)
(©)

(B)
(©)

(B)
(©)
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Section - B : Rashtra Gaurav
QU - § : I TIRa
51. T &7 @2 39T T & :

The philosophy of the Geeta
preaches :

(A) Only Bhakti

(B) Only Gyan

(C) Only Karma

(D) Bhakti, Gyan and Karma
Buddha was born at :

(A) Lumbini

(B) Sarnath

(C) Kushinara

(D) Rajagriha

Which one is not the part of Vedic
Literature?

(A) The Vedas

(B) The Upanishadas

(C) The Brahmanas

(D) The Puranas

Mohenjodaro means :

(A) Mound of people

(B) Mound of dead

(C) Mound of animals

(D) Mound of survivors

The religion of early Vedic Aryans was
mainly depended on :

(A) Bhakti

(B) Image-Worship

(C) Superstitions

(D) Yajnas and Nature worship
Who among the following gods is
other name of Shiva :

(A) Indra

(B) Varuna

(C©) Rudra

(D) Surya

Who among the following was the
founder of Mauryan dynasty?

(A) Chandragupta

(B) Ashoka

(C) Bindusara

(D) Kunala
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Harappa is situated on the bank of
river:

(A) Yamuan

(B) Ganga

(C) Sindhu

(D) Ravi

At the top of Sarnath pillar of Ashoka
was depicted:

(A) Four Lions

(B) Horse

(C) Elephant

(D) Bull

Which of the following is related to
Indus civilisation?
(A) Hastinapur
(B) Mohanjodaro
(C) Koshambi
(D) Mathura
Aryabhattiyam written by
Aryabhatta is primarily related to:
(A) Astrology

(B) Astronomy

(C) Metallurgy

(D) Mathematics

Which one of the following is not
written by Kalidasa:

(A) Malavikagnimitram

(B) Raghuvansa

(C) Abhigyanshakuntalam

(D) Kamasutra

Who was the first Indian to discover
that the earth rotates round its axis?
(A) Vasubandhu

(B) Asanga

(C) Aryabhatta

(D) Kumarajiva
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Which among the following temples 64.
does not exit in South India?

(A) Minakshi temple

(B) Brihadishwara temple

(C) Hoyasaleshwara temple

(D) Kandariya Mahadeva temple

Monuments of Ajanta and Ellora be- 65.
longs to:

(A) Mauryan Age

(B) Gupta Age

(C) Sunga Age

(D) Kushana Age

The Republics of the 6t century B.C 66.

existed at:

(A) North West India

(B) North East India

(C) South India

(D) The plains of Ganga Yamuna
The cave paintings of Ajanta are as- 67.
sociated with which of the following

religion?

(A) Buddhism

(B) Jainism

(C) Brahamanism

(D) None of these

Script of Asokan inscription is 68.
mostly:

(A) Brahmi

(B) Kharoshti

(C) Aramaic

(D) Pictographic

The Rigveda consists of Mandalas: 69.
(A) Five

(B) Seven

(C) Ten

(D) Twelve
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Who was the greatest ruler of Gupta
dynasty?

(A)
(B)
©)
(D)

The first detailed discription of es-

Shrigupta
Skandagupta
Samudragupta
Kumaragupta

pionage system is in:
(A)
(B)
(9)
(D)

The first regular exposition of the

Raghuvamsa
Kautilya's Arthasastra
Mahavamsa

Indica

legal system is in:
(A)
(B)

Manusmriti

Arthashastra

(C) Ramayana

(D) Mahabharata

Vikramashila University was situated
in:

(A)
(B)
€
(D)

Which samskara is related to edu-

Uttar Pradesh
Bihar

Bengal

Orissa

cation?
(A)
(B)
(9)
(D)

Whose contemporary was the fa-

Punsavana
Annaprasana
Simantonnayana
Upanayana

mous physician Jivaka?

(A) Asoka

(B) Gautam Buddha and Bimbisara
(C) Kanishka

(D) Kalasoka
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76.

77.

78.

79.

80.

81.

The name of Asoka's son who went
to propagate Buddhism in Shri Lanka
was:
(A)
(B)
(®)
(D)

The number of Lord Vishnu's incar-

Mahendra
Tissa
Tivar
Kunala

nation is:
(A)
(B)
(©
(D)

'Sabha' and 'Samiti' are first men-

Nine
Eight
Seven
Ten

tioned in :

(A) Vedas

(B) Puranas

(C) Ramayana

(D) Mahabharata

Which is not related to astrology?
(A) Gargi Samhita

(B) Samasa Samhita

(C) Charaka Samhita

(D) Brihata Samhita

According to Indian Astrology the
number of grahas are:

(A) 8

(B) 7

€ 9

(D) 10

Who was the founder of Nanda Em-
pire?
(A)
(B)
(@)
(D)

Mahapadmananda
Ajatashatru
Chandragupta
Bimbisara
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82.

83.

84.

85.

86.

87.

Kautilya was the author of:
(A)
(B)
(©)
(D)
The number of Jain Tirthankaras are:
(A) 24
(B) 22
(C) 23
(D) 25
According to Atharvaveda who iden-
tified and counted Nakshatra for the

Ramayana
Arthasastra
Nitisastra
Manusmriti

first time in the sky?
(A) Kashyapa

(B) Narada

(©)
(D)
Who was the
Panchasiddhantika?
(A) Aryabhatta

(B) Varahamihira
(C) Bhaskaracharya
(D) Vyasa
Salakyatantra is not related to:
(A) Ear

(B) Nose

(C) Heart

(D) Throat

The cause of Luner eclipse is:

(A)

Gargamuni
Manu
writer  of

The location of earth between
sun and moon.
(B) The location of moon between
earth and sun
The location of sun between

earth and moon

(©)

Distance of moon from the

(D)

earth
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(A) 24

(B) 22

(C) 23

(D) 25
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88.

89.

90.

91.

92.

93.

94.

Brihatasambhita was written by:

(A) Varahamihira

(B) Banabhatta

(C) Kalhana

(D) Patanjali

Which text is important for the
study of Buddhist Architecture?
(A) Abhidhamma Pitaka

(B) Vinaya Pitaka

(C) Sutta Pitaka

(D) Buddha Charita

Peacock is the mount of :

(A) Siva

(B) Vishnu

(C) Kartikeya

(D) Ganesha

Who composed Mahabharata?

(A) Valmiki

(B) Panini

(C) Suradasa

(D) Veda vyasa

Ayodhya is situated on the bank of
river:
(A)
(B)
(©)

Ganga

Yamuna

Sarayu

(D) Gomati

The Lingaraja Temple of
Bhubanesvara is in the state of:
(A) Odisha

(B) Gujarat

(C) Madhya Pradesh

(D) Tamil Nadu

Who was the propounder of
Sankhya philosophy?

(A) Kapila

(B) Patanjali

(C) Kashyapa

(D) Vyasa
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95.

96.

97.

98.

99.

Which was not a Mahajanapada dur-
ing the 6" century B.C.?

(A) Magadha

(B) Avanti

(C) Kapilavastu

(D) Kosala

Which theory of the origin of State
is not mentioned in the Shantiparva
of Mahabharata?

(A) Contract theory

(B) Divine theory

(C) Theory of Evolution

(D) None of these

The theory of divine origin of state
is not mentioned in :

(A)
(B)

Atharvaveda

Ashtadhyayi

(C) Mahabharata

(D) Arthasastra

To which of the following deity is the
famous Gayatri mantra addressed?
(A) Indra

(B) Savitri

(C) Varuna

(D) Vishnu

What was the normal form of gov-
ernment in the Vedic period?

(A) Monarchy

(B) Oligarchy

(C) Republic

(D) Democracy

100.Samavartana Samsakara was per-

formed:

(A) After the completion of educa-
tion

(B)

(©)

(D)

During marriage
Before beginning of education
After death
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